
ϳϲ

'$)7$5�3867$.$

$JXQJJXQDQWR�� (�� <��� $ULDQWL�� )��� .XVKDUWRQR�� (�� :��� 	 'DUZDQWR�� ��������
3HQJHPEDQJDQ�'HVD�0DQGLUL�PHODOXL�3HQJHORODDQ�%DGDQ�8VDKD�0LOLN�'HVD�
�%80'HV���-XUQDO�'LQDPLND�(NRQRPL�	�%LVQLV�����������±���

$UGKLDQV\DK�� '��� 5DKD\X�� 6�� 0��� 	� +XVDLQL�� $�� �������� $1$/,6,6� 327(16,�
3$-$.� +27(/� '$13$-$.� 5(6725$1� '$1� .2175,%86,1<$�
7(5+$'$33(1'$3$7$1�$6/,�'$(5$+���3$'��� ��6WXGL�.DVXV�SDGD�
'LQDV� 3HQGDSDWDQ� 'DHUDK� .RWD� %DWX� 7DKXQ� ���������� ��� -XUQDO�
$GPLQLVWUDVL� %LVQLV� �-$%��� ������� 5HWULHYHG� IURP�
DGPLQLVWUDVLELVQLV�VWXGHQWMRXUQDO�XE�DF�LG

&KRUHV\R��%���1XOKDTLP��6��$���	�:LERZR��+�� �������� ��SDUWLVLSDVL�PDV\DUDNDW�
GDODP�SHQJHPEDQJDQ�NDPSXQJ�ZLVDWD�NUHDWLI�GDJR�SRMRN�

)UDQLWD��5����������$QDOLVD�SHQJDQJJXUDQ�GL�LQGRQHVLD����

+LGD\DW�� <�� �������� 3HUDQ� %XPGHV� 'DODP� 0HPEDQJXQ� .HZLUDXVDKDDQ� 'DQ�
.HPDQGLULDQ�'HVD��6WXGL�.DVXV�%80'HV�0XJLUDKD\X��'HVD�/HEDN�+HUDQJ��
.HFDPDWDQ� &LZDUX�� .DEXSDWHQ�.XQLQJDQ�� -DZD� %DUDW�� -XUQDO�0DQDMHPHQ��
��������±���

+RP]DK� 6XODHPDQ�� 0�� 0��� 	� 6LWL�� '�� �������� 3(1*(0%$1*$1�
�02',),.$6,�� 7(25,�02'$/� 626,$/� '$1� $3/,.$6,1<$� <$1*�
%(5%$6,6� 0$6<$5$.$7� 3(7$1,� 3(7(51$. �678',� .$686�
3(1'(.$7$1�626,2/2*,6� 3$'$�.(/2032.�'$1�25*$1,6$6,�
86$+$� 7$1,� 7(51$.� 6$3,� 3(5$+� ',� .(&$0$7$1�
3$1*$/(1*$1�.$%83$7(1�%$1'81*����±���

+XOX�� 5�� �������� 3(5$1$1� %$'$1� 86$+$� 0,/,.� '(6$� �� %80'HV� ��
'$/$0�3(1,1*.$7$1�(.2120,�0$6<$5$.$7� �� 678',� 3$'$�
%80'HV� '(6$� 3(.$1� 7(%,+� .(&$0$7$1� .(3(18+$1� +8/8�
.$%83$7(1�52.$1�+8/8���

-XUDLGDK�� �������� 3HUDQ� 3HPHULQWDK� 'HVD� GDODP� 0HQLQJNDWNDQ� 3DUWLVLSDVL�
0DV\DUDNDW� GDODP� 3HPEDQJXQDQ� GL� 'HVD�0HQGLN� .DU\D� .HFDPDWDQ� /RQJ�
.DOL�.DEXSDWHQ�3DVHU��-XUQDO�$GPLQLVWUDVL�1HJDUD� ����������±�����

.DUDPR\�� $�� $�� �������� '(6$� 6$:$1*$1� .(&$0$7$1� $,50$',',�
.$%83$7(1�0,1$+$6$�87$5$���±���

.DVLOD�� 0��� 	� .RORSDNLQJ�� /�� 0�� �������� 3DUWLVLSDVL� 3HPXGD� 'HVD� GDODP�
3HUNHPEDQJDQ�8VDKD�%XPGHV�³�7LUWD�0DQGLUL� ´� ��6WXGL�GL�'HVD�3RQJJRN� ��
.HFDPDWDQ 3RODQKDUMR�� .DEXSDWHQ� .ODWHQ�� 3URYLQVL� -DZD� 7HQJDK��� -XUQDO�
6DLQV�.RPXQLNDVL�'DQ�3HQJHPEDQJDQ�0DV\DUDNDW����������±���

.LURZDWL��'���	 6��/��'����������3HQJHPEDQJDQ�'HVD�0DQGLUL�PHODOXL�%80'HV�
GDODP� 0HQLQJNDWNDQ� .HVHMDKWHUDDQ� 0DV\DUDNDW� 'HVD� �6WXGL� .DVXVௗ�� 'HVD�
7HPERUR� .HFDPDWDQ� .DUDV� .DEXSDWHQ� 0DJHWDQ��� -XUQDO� $.6,� �$NXQWDQVL�



ϳϳ

'DQ�6LVWHP�,QIRUPDVL��������±���

.XVXPDVWXWL�� $�� �������� 0RGDO� 6RVLDO� GDQ� 0HNDQLVPH� $GDSWDVL� 0DV\DUDNDW�
3HGHVDDQ� GDODP� 3HQJHORODDQ� GDQ� 3HPEDQJXQDQ� ,QIUDVWUXNWXU�0RGDO� 6RVLDO�
GDQ�0HNDQLVPH�$GDSWDVL�0DV\DUDNDW�3HGHVDDQ�GDODP�

0XKVRQ��$����������7HNQLN�$QDOLVLV�.XDQWLWDWLI��0DNDODK�7HNQLN�$QDOLVLV�,,���±���
5HWULHYHG� IURP�
KWWS���VWDIIQHZ�XQ\�DF�LG�XSORDG�����������SHQGLGLNDQ�$QDOLVLV�.XDQWLWDWLI�
SGI

1LQJVLK��)���	�6MDI��6����������'HWHUPLQH�)DFWRUV�RI�5XUDO�<RXWK�,QYROYHPHQW�RQ�
6XVWDLQDEOH�$JULFXOWXUH�$FWLYLWLHV�����������±���

3UDPXG\DVDUL� 1XU� %LQWDUL�� &�� '�� �������� -3,6� �� -XUQDO� 3HQGLGLNDQ� ,OPX� 6RVLDO��
9RO������1R�����(GLVL�-XQL�������������������±���

3UDVHW\R�� 5�� $�� �������� 3HUDQDQ� %80'HV� GDODP� 3HPEDQJXQDQ� GDQ�
3HPEHUGD\DDQ� 0DV\DUDNDW� GL� 'HVD� 3HMDPERQ� .HFDPDWDQ� 6XPEHUUHMR�
.DEXSDWHQ�%RMRQHJRUR��-XUQDO�'LDOHNWLND�����������±����

3XVSLWDVDUL�� '�� &�� �Q�G���� :LUDXVDKD� 0XGD� 0HPEDQJXQ� 'HVDௗ�� 'LQDPLND�
3DUWLVLSDVL�3HPEDQJXQDQ�'HVD�����������±����

5DPDGDQD��&��%���5LEDZDQWR��+���	�6XZRQGR����������.HEHUDGDDQ�%DGDQ�8VDKD�
0LOLN� 'HVD� �%80'HV�� VHEDJDL� 3HQJXDWDQ� (NRQRPL� 'HVD� �6WXGL� GL� 'HVD�
/DQGXQJVDUL�� .HFDPDWDQ� 'DX�� .DEXSDWHQ� 0DODQJ�� &RULVW\D�� -XUQDO�
$GPLQLVWUDVL�3XEOLN������������±�����

5DQWXQJ�� 9�� 9�� 	� 3LRK�� 1�� 5�� �������� 3$57,6,3$6,� '$/$0� 352*5$0�
1$6,21$/�.(/85$+$1�7$$6�.27$�0$1$'2��,9����

5LGOZDQ�� =�� �������� 8UJHQVL� %DGDQ� 8VDKD� 0LOLN� 'HVD� �%80'HV�� GDODP�
3HPEDQJXQ�3HUHNRQRPLDQ�'HVD��-XUQDO�,OPX�+XNXP�����������±����

6DPVLU�� $�� �������� 6WXGL� .RPSHUDWLI�0RGHO� %80'HV� GL� .DEXSDWHQ� %DQWDHQJ��
-XUQDO�$GPLQLVWUDUH����������±���

6ROHPDQ�� 0��� 	� 1RHU�� 0�� �������� 1DZDFLWD� 6HEDJDL� 6WUDWHJL� .KXVXV� -RNRZL�
3HULRGH� 2NWREHU� ����� � ��� 2NWREHU� ������ -XUQDO� .DMLDQ� 3ROLWLN� 'DQ�
0DVDODK�3HPEDQJXQDQ�������������±�����

6XQRWR��,���6WXGL��3���,QIRUPDWLND��7���1XOKDNLP��$��/���6WXGL��3���	�,QIRUPDWLND��7��
�������� 0(1*8.85� 7,1*.$7� 3$57,6,3$6,� 3(08'$� '$/$0�
352*5$0� .$5$1*� 7$581$� '(1*$1� 3(1'(.$7$1� 0(72'(�
)8==<�,1)5(1&(�����������±����

7LP��2���	�6SDL��'���Q�G����,VODP�GDQ�(NRQRPL�

8EDLGLGLOODK��+����������$QDOLVD�3HQJDUXK�0RGDO�6RVLDO�7HUKDGDS�2UJDQL]DWLRQDO�
&LWL]HQVKLS�%HKDYLRUV��2FE��'HQJDQ�0HGLDVL�.HSHUFD\DDQ�3DGD�0DQDMHPHQ�
%80'HVD��-XUQDO�:$+$1$�����������±���

9JD��1��$���	�+DNLP��/����������',�'(6$�78/81*5(-2�.27$�%$78��������



ϳϴ

<DFRXE�� <�� �������� 3HQJDUXK� 7LQJNDW� 3HQJDQJJXUDQ� WHUKDGDS� 7LQJNDW�
.HPLVNLQDQ�.DEXSDWHQ���.RWD�GL�3URYLQVL�.DOLPDQWDQ�%DUDW��������±����

<XVXI�� ,�� )��� 0DUWRQR�� (��� 	� 3UDVHW\D�� $�� �������� 3HUDQ� 3HPXGD� GDODP�
3HQJHPEDQJDQ� (GXZLVDWD� (QHUJL� 7HUEDUXNDQ� GDQ�� �1RYHPEHU���
KWWSV���GRL�RUJ����������MNQ������

=XONDUQDHQ��5��0����������3HQJHPEDQJDQ�3RWHQVL�(NRQRPL�'HVD�PHODOXL�%DGDQ�
8VDKD�0LOLN�'HVD��%80'HV��3RQGRN�6DODP�.DEXSDWHQ�3XUZDNDUWD��-XUQDO�
$SOLNDVL�,SWHNV�8QWXN�0DV\DUDNDW���������±��

=XULDK��1����������0HWRGHORJL�3HQHOLWLDQ�6RVLDO�GDQ�3HQGLGLNDQ�7HRUL�� $SOLNDVL��
-DNDUWD��37�%XPL�$NVDUD�


